PAPAT YA  L0CASOFAASSEMBLY INSTRUCTION www.papatya.com.ir

Cardboard Package 1/2

Q Metal Armrest 1 pcs. @ 3 seater bottom frame 1 pcs. G 3 Seater Metal back Frame 1 pcs.

Q Seat cushion 3 pcCs. G Back cushion 3 pcs. G m8x40 imbus screw 3 pCs. e m6x15 imbus screw 4 pcs.

— ] ? :

c’ Foot glides 3 pcs. 0 Metal Corner back 1 pcs. 0 Metal support leg 2 pcs. @ m8x15 imbus screw 4 pcs.
*do only fix the 2 metal

|




PA PAT YA LOCA SOFAASSEMBLY INSTRUCTION www.papatya.com.tr

Cardboard Package 2 /2

0 Metal Armrest 1 pcs.

(@ Seat cushion 2 pcs.

—

@ Foot glider 3 pes.

4

@ 2 seater bottom frame 1 pcs. G 2 seater Metal back frame 1 pcs.

G Back cushion 2 pcs. G m8x40 imbus screw 3 pcs. @ m6x15 imbus screw 4 pcs.

] ¥ |




PAPAT YA  L0CASOFAASSEMBLY INSTRUGTION www.papatya.com.r

Place the L hook into the opposite side
hole and make sure it is securely fastened.




PAPAT YA

LOCA SOFA ASSEMBLY INSTRUCTION www.papatya.com.tr

9 Insert the metal support legs (J) into the base,
and fix using the m8x15 screws (G)
with the helping of Allen key.
Ensure each screw is tightened properly.v




PAPAT YA LOCA SOFA ASSEMBLY INSTRUCTION www.papatya.com.ir

Fix the metal backrests to the base using the m8x40 (F) screws.
Ensure that each screw is properly tightened to guarantee the stability
and durability of the assembled structure.




PAPAT YA LOCA SOFA ASSEMBLY INSTRUCTION www.papatya.com.ir

Complete the assembly by attaching the metal corner backrest (1) to the sofa using the m6x15(G) screws.
Ensure that all screws are firmly tightened.




